

Physics Olympics

Fermi Questions									Team Name:



Rules:

		All questions must be answered in order of magnitude format (e.g. 104 not 3 x 104).  



		No calculators or reference materials may be used.



Example: 	Given a candle that is the diameter of a small birthday candle, but five miles high, how long would it burn (in days)?



				5 miles = 104 meters = 106 cm = 105 normal candles



				Say a typical candle burns for 10 minutes.



				So we get  106 minutes = 104 hours = 103 days.



Scoring:	Each question is worth 10 points.  One point will be deducted for each power of ten you are away from the correct answer.







)	How long would it take a man to crawl to the moon (in days)?



)	How many milk cows are there in the United States?



)	Estimate the number of iron atoms in the head of a pin.



)	How many grains of rice are eaten in China during a typical day?



)	How many liters of air does the average adult inhale in a 24 hour day?



)	How many standard size power plants would it take to run all of the electric clocks in the country?



)	How much space (in cubic kilometers) would be required to fit the entire population of the earth, assuming that no space is wasted?



)	A Penny starts at the top of the Empire State Building.  Ignoring air friction, estimate the speed in meters per second with which the penny would strike the street below.



)	How many revolutions will a 14-inch tire make during a trip across the continental U.S.?



)	How many drops of water (medicine dropper size) are there in Lake Erie?
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